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Warm Up Grade 8

Grade 7 Review of Adding Integers

Note on division: (+15) + (+3) = (+5)

Dividlnd Divisor Quotient

REVIEW (Y CH)=C D

Represent the following with a addition statement of integers, then find

the sum:
a)Karen lost $15 but found $20
always show

T(;lS) + (-}2& (.‘.5> work

Karen \Was o erofiy
of 85
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Page 87-88 #4, #5(a,c.e,g,i), #8(a,d), #9(a,c), #10(a,b,c,d), #11(a,b), #12(a,b), #15(a,b,d), #16

Homework

#4)a) -9 b)+2 c)-12 d)+5

. Solutions
5)a) (+12) + (+4) = (+3)

c) (-18) + (+9) = (-2)

e) (+72) = (-8) = (-9)

g9) (-14) = (+1)=(-14)

h) (-27) = (-3) = (+9)
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W”s #4, #5(a,c.e,g.i), #8(a,d), #9(a,c), #10(a,b,c.d), #11(a,b), #12(a,b), #15(a,b,d), #16

o
g. -0 (H5)= ~3b

-36) — Wg) =-06
(-30) = )= +5
by W) % W) =+4H2
2= ¥ =7
42 = D=1
A H“q‘)x(‘lf\) = -3,
“3b= (- =19
—3L = U]y =-4
A P x - 432
+32- -4)=-9%
+32 - = -4

a 4) -20_ + 42] _ _
-4 22D HA2 _ -2

O3e.q DL =0
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Page 87-88 #4, #5(a,c,e,g,i), #8(a,d), #9(a,c), #10(a,b,c,d), #1 ?:a,b), #12(a,b), #15(a,b,d), #16

b, aY+25 — +S = %
b) —3&" (\_qs - .\-’b . Solutions

Homework

@) M3 = - =+
vy Y = - =

o -86=E=+g

Che bbﬂ"bml ey —Qor ¥ 0\0-<-;\S
2. (=15 = (+5)="3
The temp. dropped 3 ° esach how.

13- (-132) = (1) = -1
Yer !Do-]oxhc,e Ao p ped 9)) uc‘.f\)c |

a2 = Y=Y

Oe Josb L ponks on cach o>
B 4 p-ergbrmmcec.
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Cage 87-88 #4, #5(a,c,e,z,i), #8(a,d), #9(a,c), #10(a,b,c,d), #11(a,b), #12(a,b), #15(a,b,d), #16

Suppose you divide two integers. The quotient is an integer.
* When is the quotient: Homework

. Solutions

(b) greater than both integers

when ol MV re o heff:b.“" l?l\ &
regodive. £y (-0 = (~o) = =2

(c) between the two integers . —
FD<uD =-4 (A==
when g,.A’\J\JA. o n‘gs""b“" by o

h T AR

) equal to a +1 . ' _ L
\ALU\ L~ d\\)\A&- He same \n ok
eSS Exl-4) = (-24) = ﬁﬁe

(e) equal to -1 . .
- Ohen R ivide oppncr)x, | ntegers
(*5) - (."5\ = /I

(f) equal to 0

— e 0 1S dNnded L’g the

\wn
Ex 62k8)=0 o= 1x\=0
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,’9‘) (/9
1S o) s
9, S3,@n, -37, B B2,
mult ey by C3)
ORED

b) +{) =Ti,* 1%, -24,730 -3¢ 44
(Y] ‘x‘\/ivb&q xS bLxg

d) Q\zw'-l))(-r@,é\c. i1 hl 12
=L
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Rules From Grade 7 Integer Unit

N
Unit 2: Integers -1 +1
O = unshad edD negot-ves
Adding with tiles ® =) Shuded = Posilive

-When you add integers you represent each integer in the
) addition statement. (Remove zero pairs and state answer)

%)+ T =

-2) il
CEN N NWS

‘n® *

zero pair

Adding with Number lines

- Always start at zero

- Count the bumps in the road for the first integer
Move to the right = if positive
Move to the left <= if negative

- When adding the second integer we count the bumps on the road in
the direction given from where we ended with the first integer.

-Where you end up is the answer.

(4)+ (+6) =)

left right

——
9-8-7 6-5-4-3-2-1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9

o

—
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Modeling Integer Addition

9+ =(re)

A e

. A

D) =2€6)
oo0
o0 d
Bank

(D= =7 A %

\

Same,

(3 = (*1)

X
e <
D ¢

(‘f)\+;4) = Q—‘-l)

A: & o

tgoo0e
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Modelling Integer Addition using Number Lines

We have modelled integer addition using algebra tiles, now we will add using number
lines. Remember with number lines positive is to the right and negative is to the left.

Always start at zero —
(a) (+3) + (+5)

il l | | | | 1 l | | | | l -
o I | I | I | I I I | I | I I i

=10 =9 =8 =7 =6 =5 =4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(b) (-:2)+(-4)

all—! l | | l l 1 l | | l 1 l -
hol | I | I | I I I | I 1 I 1 L

-0 9 8 -7 6 -5 4 -3 -2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(©) (+6) +(-3)

! l 1 1 | | l l 1 1 | | l -
i 1 I I | I I 1 I I | I I i

=10 -89 =8 =7 =6 =5 —4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(d) (-4 +(+8)

v

4! | l l 1 1 |

B | I | I | I | I | I I I |

—10 =9 —8 —7 —6 =5 —4 -3 —2 —1 0 +1 +2 43 +4 45 +6 +7 +8 +9 +10
) (-/) ()

! l | | l l 1 1 | | l l l -
I | I I I I I I I I I I I I i

-10 -9 -8 =7 6 -6 —4 =3 =2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10
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Adding with Rules

-When we add two integers with the same signs: Thinking
Ex) 1 Thinking Ex) 2 4+8 = 12

- -7)= : So answer is +12
(Q’ +/(7)-'10 S P () +/+8>=+12

so answer is -10

both signs (-) both signs (+)

Both signs the same then just add both numbers
together, ignoring the sign, and the answer has to
have the same sign as the original integers

+) + (-
-When we add two integers with the different signs:

Step 1) Cover up the signs and ask yourself which number is larger.

The answer will have the sign of the bigger number

Step 2) Since they are different, ignore the sign and find the difference
between the two numbers (Big minus small). That is your number for
the answer

Ex) (+2) + /-7) =-5

241929 \

Different signs

between 2 & 7, 7 is bigger so the sign on 7
Step 1 ) goes with the answer (-)

Different signs

step 1) When you cover up the signs, we have 12 & 3.

12 is Larger so our answer will have the sign on Step2) 7-2=5
12 which is (-) :

step2) 153 =9

September 21, 2022

10
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(a)@12)+ (-9) =

(©) (-15)+ (-6) =)
@6+ (-12)=[&)
® 1N+ =
(i) (-8) + (+12) = @

(&) (-16) + (+14) =@

Add the following usir@he rules.

(b) (8) + (3= €1)

(@) (+14) + (-4) = (413

() (-25) + (+16) =€)

() (+30) + (21) = £9)

O - )@ )
020+ (D= & 13)

11
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Rules for Adding Integers

When you add two positive integers,
add the numbers and your answer will be positive.
Ex. (+6) +( +8) = +14 (+11) + (+9) = +20

When you add two negative integers,
add the numbers and your answer will always be negative.
Ex. (-5) + (-7) =-12 (-8) + (-10) =-18

When you add a positive integer and a negative integer,
subtract the numbers, and keep the sign of the larger number.
Ex. (-6) + (+8) = +2 +4)+(-9)=-5
+9) +(-12)=-3 (-15) +(+20) =+5

12
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6y (FN+ES)+ )
I~~~
@R + ¢
AN~~~

+%)

Worksheet 235
Adding Integer Review

13
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% Grade 8 Math SHEET 235.docx



[bookmark: _GoBack]Grade 8 Math SHEET 235

Review of Grade 7 Adding Integers & Modeling

1) For each of the following Model with tiles   

a. (+5) + (+1)		b.   (-1) + (+8)		c.  0 + (-5)		d. (-7) + (+4) 





e. (-2) + (-2) 		f.    (-6) + (-5) 		g. (+4) + (-4)		h.  (-12)  +  (+8)



  

2) Use number lines to model each addition below (Use number line sheet provided)

a. (+6)+ (-4) 	b.  0 + (-2) 	c.  (-3) + (-7)	d.  (-8) + (+5)           e. (-9) + (+9)         f.   (+12) + (+6)

g.  (-14) + (-1)  	h.(+3) + (-14)



3) Fill in the blank with the correct integer.

a. (+5) + ___  =  +8		b.  ___ + (-3)  =  -4		c.   (+3)  + ____  = +1

b. (-5) +  ____ = -3		e)  (+2)  + ___  = +1 		f.  ____  + (-6)   = 0



4) Add the following using addition rules

a. (+2) + (+3)		b.  (-3) + (+4)		c.  (-4) + (-5)		d.  (+8) + (-1)

[image: ][image: ]e.  (-10)  +  (-6) 		f.  (+4) + (-13)

5) Write the addition equation modeled by each number line

a. 							b.





6) Show work for  each of the following (do the question in steps)

a. (+7) + (-5) + (+6)		b. (-9) + (+2) + (-3)	c. (+1) + (-6) + (+11)	d.  (-3) + (+5) + (-1) + (+8)		

image1.png







image2.png
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